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So, It IS NOT just a database.   Process, process…..

It is called Data Warehousing, NOT “Database” Warehousing.

It’s a simple idea

Consists of 2 components:

Back room   &   Front room
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What is the problem?

This is a distilled version.

There is a complex process to gather the information from multiple systems.  Sometimes 

even finding the data you need can be daunting.
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What is the problem?

The Spiderweb problem

The core systems from the prior slide are in the middle here.
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Consistent view of data example:

Physician code different at Good Sams vs. UK Healthcare

So, if you want to measure something about the physician you need to know 

this.

Tools need to be easy to use and more importantly, easy to learn to use.
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Normalized model.  Eliminating redundant data.  Thus joins are used to put data back 

together.together.
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The database engine leverages the star join by first constraining the dim tables and 

gathering keys satisfying the query filters, and then querying the fact table with the gathering keys satisfying the query filters, and then querying the fact table with the 

cartesian product of the relevant dimension keys.
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Fact tables ex:  such as sales ordering process or service call event.
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See diagram a few slides back.
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Dimension table ex:  such as customer, product, or sales rep associated with an order
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Performance

Insulation from source system key changes.  Re-using obsolete products, etc.

Handle unknown or NA conditions.  Avoid the NULL

Track changes in dimensions, re type 2 SCD
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Easiest to implement, but caveat….

If fact data has been previously aggregated based on the type 1 attr, when the dimension 

value is overwritten, then the aggregation is broken.
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Each surrogate key is used in the corresponding fact rows during the time when the 

particular instance was valid.particular instance was valid.
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In other words although the change has occurred it is still possible to act as if the change 

had not occurredhad not occurred
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Surrogate keys are used.
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Extra slides for discussion, if necessary
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